
Version 3
Dice board game (with chips)

Same as version 2 but with 3 dice (and 9 chips): Below is a board for 3 players. Player 1 owns the 
numbers 3 to 8 on the left, Player 2 owns numbers 9 to 12 at the bottom and player 3 owns 
numbers 13 to 18 on the right.  Each player gets an equal number of chips (say 9). At each move 
each player bets a chip on one of the numbers he owns. Three dice are thrown and he who owns 
the number equal to the sum of the dice gets all three chips. The game is over when two of the 
players have no chip left. The player who has all chips at the end wins.

Below is a board for 3 players. Player 1 owns the num
bers 2,3,4 and 5, Player 2 owns num

bers 
6,7,8 and player 3 owns num

bers 9,10,11 and 12. Players take turns throwing 2 dices. W
hoever 

owns the sum
 of the two dices gets a point. 

The person who has the m
ost points after 20/30/40 throws of the dices is the winner.
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Below is a board for 3 players. Player 1 owns the numbers 2,3,4 and 5, Player 2 owns numbers 
6,7,8 and player 3 owns numbers 9,10,11 and 12. Players take turns throwing 2 dices. Whoever 
owns the sum of the two dices gets a point. 

The person who has the most points after 20/30/40 throws of the dices is the winner.
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